

BOARD Professional Learning RFP 860 Phase 3 Evaluator Template Composite

	AVAILABLE POINTS	25	10	20	25	10	10	100	
			REPUTATION OF			VENDOR PAST			
			VENDOR & GOODS &	QUALITY OF GOODS	GOODS & SERVICES	RELATIONSHIP WITH	LONG-TERM COST		
#	VENDOR NAME	PURCHASE PRICE	SERVICES	& SERVICES	MEET FISD NEEDS	FISD	TO FISD	TOTAL SCORE	AVEREAGE SCORE
1	Camp Fire First Texas	63	21	48	63	19	26	240	80.0
2	PheedLoop Inc.	70	28	56	72	24	27	277	92.3



BOARD Professional Learning RFP 860 Phase 3 Evaluator Template Evaluator #1

	AVAILABLE POINTS	25	10	20	25	10	10	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & GOODS & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TOTAL SCORE
1	Camp Fire First Texas	25	8	18	25	7	10	93
2	PheedLoop Inc.	25	10	20	25	10	10	100



BOARD Professional Learning RFP 860 Phase 3 Evaluator Template Evaluator #2

	AVAILABLE POINTS	25	10	20	25	10	10	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & GOODS & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TOTAL SCORE
1	Camp Fire First Texas	18	5	15	18	7	8	71
2	PheedLoop Inc.	22	8	18	23	7	8	86



BOARD Professional Learning RFP 860 Phase 3 Evaluator Template Evaluator #3

	AVAILABLE POINTS	25	10	20	25	10	10	100
#	VENDOR NAME	PURCHASE PRICE	REPUTATION OF VENDOR & GOODS & SERVICES	QUALITY OF GOODS & SERVICES	GOODS & SERVICES MEET FISD NEEDS	VENDOR PAST RELATIONSHIP WITH FISD	LONG-TERM COST TO FISD	TOTAL SCORE
1	Camp Fire First Texas	20	8	15	20	5	8	76
2	PheedLoop Inc.	23	10	18	24	7	9	91